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Q.1

Ans

1. 

2. 

3. 

4. 

Question ID : 26433070435

Status : Answered

Chosen Option : 3



Q.2 िनɻिलİखत मŐ से कौन सा अƗर-समूह दी गई Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगा?
ABCD, EBCD, ?, OBCD, UBCD

Ans 1. JBCD

2. IBCD

3. LBCD

4. KBCD

Question ID : 26433059855

Status : Answered

Chosen Option : 2

Q.3

Ans

1. 

2. 

3. 

4. 

Question ID : 26433066043

Status : Answered

Chosen Option : 3

Q.4 उस िवकʙका चयन कीिजए जो तीसरे शɨ से उसी Ůकार संबंिधत है िजस Ůकार दूसरा शɨ पहले
शɨ से संबंिधत है। (शɨों को अथŊपूणŊ शɨो ं के ŝप मŐ माना जाना चािहए और शɨ मŐ अƗरो/ंʩंजनो ं
/ˢरों की संƥा के आधार पर एक दूसरे से संबंिधत नही ं िकया जाना चािहए)
दूरदशŎ : दूर की वˑुएं :: सूƘदशŎ : ?

Ans 1. भारी वˑुएं

2. बड़ी वˑुएं

3. बŠत छोटी वˑुएं

4. बŠत बड़ी वˑुएं

Question ID : 26433067814

Status : Answered

Chosen Option : 3



Q.5 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(2, 4, 20)
(4, 5, 41)

Ans 1. (7, 3, 59)

2. (9, 2, 86)

3. (5, 3, 32)

4. (4, 3, 25)

Question ID : 26433070231

Status : Answered

Chosen Option : 4

Q.6 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है और छठी संƥा पांचवी ं संƥा से संबंिधत है।
16 : 20 :: 256 : ? :: 49 : 56

Ans 1. 272

2. 264

3. 266

4. 278

Question ID : 26433067902

Status : Answered

Chosen Option : 1

Q.7 दी गयी दो संƥाओं को आपस मŐ पर˙र बदलने पर िनɻिलİखत मŐ से कौन सा समीकरण सही नही ं
होगा?
4 तथा 2

Ans 1. 6 × 4 – 8 ÷ 2 + 7 = 17

2. 4 × 3 – 8 ÷ 2 + 7 = 11

3. 8 ÷ 4 × 2 – 6 + 9 = 18

4. 4 – 8 × 3 + 2 ÷ 1 = –18

Question ID : 264330105110

Status : Answered

Chosen Option : 3

Q.8 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनों मŐ दी गई जानकारी सȑ है
भले ही वह सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, िनणŊय करŐ िक िदए गए िनʺषŘ मŐ से
कौन सा/से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करता/करते है/हœ।
कथन:
कुछ बŐच, मेज हœ।
कुछ मेज, कुिसŊयां हœ।
कुछ कुिसŊयां, पŐͤिसलŐ हœ।
िन̽कषŊ:
I. कुछ बŐच, कुिसŊयां हœ।
II. कुछ मेज, पŐͤिसल हœ।
III. कुछ पŐͤिसलŐ, कुिसŊयां हœ।
IV. कुछ पŐͤिसलŐ, मेज हœ।

Ans 1. केवल िनʺषŊ III अनुसरण करता है

2. केवल िनʺषŊ II और IV अनुसरण करते हœ

3. केवल िनʺषŊ I और II अनुसरण करते हœ

4. कोई भी िनʺषŊ अनुसरण नही ं करता है

Question ID : 26433068550

Status : Answered

Chosen Option : 1



Q.9 एक िनिʮत कूट भाषा मŐ, 'HAIRCAP' को 'IAHRPAC' और 'LEADMAN' को 'AELDNAM' िलखा
जाता है। उसी भाषा मŐ 'FACTFUL' कैसे िलखा जाएगा?

Ans 1. CAFTULF

2. CAFTLUF

3. CAFTLFU

4. CATFLUF

Question ID : 26433059885

Status : Answered

Chosen Option : 2

Q.10 उस िवकʙका चयन कीिजए जो िदए गए शɨों के उस सही Ţम को िनŝिपत करता है िजस Ţम मŐ वे
अंŤेजी शɨकोश मŐ आते हœ।
1. Amphibian
2. Ambiguous
3. Ambience
4. Amplify
5. Amorphous
6. Ambivalent
7. Ameliorate

Ans 1. 3, 2, 6, 7, 5, 4, 1

2. 3, 2, 6, 5, 7, 1, 4

3. 3, 2, 4, 6, 7, 5, 1

4. 3, 2, 6, 7, 5, 1, 4

Question ID : 26433094935

Status : Answered

Chosen Option : 4

Q.11 िनɻिलİखत चार अƗर-समूहो ं मŐ से तीन िकसी िनिʮत तरीके से समान हœ और एक उनसे असंगत है।
असंगत अƗर-समूह का चयन कीिजए।

Ans 1. TFE

2. RHG

3. EUT

4. TRQ

Question ID : 26433069005

Status : Answered

Chosen Option : 4



Q.12

Ans 1. 5

2. 2

3. 3

4. 1

Question ID : 26433069433

Status : Answered

Chosen Option : 3

Q.13 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(76, 4, 19)
(98, 2, 49)

Ans 1. (72, 4, 18)

2. (88, 2, 22)

3. (84, 12, 4)

4. (99, 3, 66)

Question ID : 26433079125

Status : Answered

Chosen Option : 1

Q.14 यिद X × Y का अथŊ है िक X, Y की माता है, X – Y का अथŊ है िक X, Y का िपता है, X ÷ Y का अथŊ है िक
X, Y की बहन है, तो िनɻिलİखत मŐ से कौन सा ʩंजक यह िनŝिपत करता है, िक P, R का दादा है?

Ans 1. P – Q ÷ R

2. P × Q – R

3. Q – P × R

4. P – Q × R

Question ID : 264330104969

Status : Answered

Chosen Option : 4



Q.15 एक अनुŢम िदया गया है, िजसमŐ से एक पद लुɑ है। िदए गए िवकʙों मŐ से वह सही िवकʙ चुिनए, जो
अनुŢम को पूरा करे।
MHDM, MYLC, MPTS, MGBI, ?

Ans 1. MNRS

2. MXYJ

3. MJXY

4. MXJY

Question ID : 264330104835

Status : Answered

Chosen Option : 4

Q.16

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080504

Status : Answered

Chosen Option : 4

Q.17 गिणतीय िच˥ो ं के उस सही संयोजन का चयन कीिजए िजसे Ţिमक ŝप से * के ̾थान पर रखने पर
िदया गया समीकरण संतुिलत हो जाएगा।
16 * 3 * 2 * 11 * 9 = 22

Ans 1. ÷, ×, +, +

2. ×, ÷, +, -

3. ×, ÷, −, +

4. ÷, +, ×, ÷

Question ID : 26433068596

Status : Answered

Chosen Option : 3



Q.18

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068722

Status : Answered

Chosen Option : 4

Q.19 'A @ B' का अथŊ है 'A, B का पित है'।
'A & B' का अथŊ है 'A, B का िपता है'।
'A # B' का अथŊ है 'B, A का पुũ है'।
यिद S @ T # P @ Q # R & V है, तो T, Q से िकस Ůकार संबंिधत है?

Ans 1. बहन

2. माता

3. पित

4. सास

Question ID : 26433068460

Status : Answered

Chosen Option : 4

Q.20 उस िवकʙका चयन करŐ , जो तीसरे शɨ से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा शɨ, पहले
शɨ से संबंिधत है। (शɨों को अथŊपूणŊ िहंदी शɨों के ŝप मŐ माना जाना चािहए और शɨों को उनमŐ
अƗरो ं की संƥा / ʩंजनो ं की संƥा / ˢरों की संƥा के आधार पर एक दूसरे से संबंिधत नही ं िकया
जाना चािहए।)
कांपना : डर :: लंबी सांस लेना : ?

Ans 1. गुˣा

2. ददŊ

3. राहत

4. उʃीद

Question ID : 26433056586

Status : Answered

Chosen Option : 3



Q.21 िनɻिलİखत ŵेणी मŐ Ůʲिच˥ (?) के ̾थान पर कौन सी संƥा आएगी?
5, 12, 26, ?, 110, 222

Ans 1. 56

2. 54

3. 52

4. 50

Question ID : 26433067597

Status : Answered

Chosen Option : 2

Q.22 नीचे िदए गए Ůʲ मŐ, चार संƥा युƵ िदए गए हœ। Ůȑेक युƵ मŐ (–) के बायी ंओर दी गई संƥा (–) के
दायी ंओर दी गई संƥा से िकसी तकŊ /िनयम/संबंध से संबंिधत है। तीन युƵ उसी एक तकŊ /िनयम/संबंध
के आधार पर समान हœ। िदए गए िवकʙों मŐ से िवषम को चुिनए।(ȯान दŐ: संƥाओं को उनके संघटक
अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर संिŢयाएँ िन˃ािदत की जानी चािहए। उदाहरण "13" -
13 पर संिŢयाएँ जैसे िक 13 मŐ जोड़ना/घटाना/गुणा करना आिद िकया जा सकता है। 13 को 1 और 3 मŐ
तोड़ना और और िफर 1 और 3 पर गिणतीय संिŢयाएँ करने की अनुमित नही ं है)

Ans 1. 15 – 56

2. 17 – 64

3. 11 – 39

4. 13 – 48

Question ID : 264330105068

Status : Answered

Chosen Option : 3

Q.23 दी गयी दो संƥाओं को आपस मŐ पर˙र बदलने पर िनɻिलİखत मŐ से कौन सा समीकरण सही नही ं
होगा?
7 तथा 9

Ans 1. 7 + 6 – 9 × 4 ÷ 2 = 2

2. 9 × 3 + 4 ÷ 2 – 7 = 14

3. 8 × 3 ÷ 6 + 9 – 7 = 2

4. 9 + 4 × 3 – 7 ÷ 1 = 10

Question ID : 264330105112

Status : Answered

Chosen Option : 1

Q.24 एक िनिʮत कूट भाषा मŐ, 'ICE' को '20' के ŝप मŐ कूटबȠ िकया जाता है और 'HOT' को '46' के ŝप मŐ
कूटबȠ िकया जाता है। उसी भाषा मŐ 'POT' को िकस Ůकार कूटबȠ िकया जाएगा?

Ans 1. 55

2. 58

3. 56

4. 54

Question ID : 26433067341

Status : Answered

Chosen Option : 4



Q.25 नीचे िदए गए Ůʲ मŐ कुछ कथनऔर उनके बाद उन कथनो ं पर आधाįरत कुछ िनʺषŊ िदए गए हœ। िदए
गए कथनो ं को सही मानŐ, भले ही उनमŐ सामाɊतः ǒात तȚों से िभɄता हो। सभी िनʺषŊ पढ़Ő और िफर
िनधाŊįरत करŐ िक कौन से िनʺषŊ, िदए गए कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।
कथन:
I. कोई टायर, सफेद नही ं है।
II. सभी Ťे, सफेद हœ।
िनʺषŊ:
I. कोई सफेद, टायर नही ं है।
II. कोई टायर, Ťे नही ं है।
III. कुछ सफेद, Ťे नही ं हœ।

Ans 1. I तथा II दोनों िनʺषŊ अनुसरण करते हœ

2. कोई भी िनʺषŊ अनुसरण नही ं करता है

3. I तथा III दोनों िनʺषŊ अनुसरण करते हœ

4. केवल िनʺषŊ I अनुसरण करता है

Question ID : 264330104942

Status : Answered

Chosen Option : 3

Q.1 Which measuring instrument consists of a metal triangular frame supported on three
legs, used to measure the radius of curvature of an object such as lenses and curved
mirrors which are spherical in shape?

Ans 1. Viscometer

2. Spherometer

3. Verniercaliper

4. Screw gauge

Question ID : 26433092180

Status : Answered

Chosen Option : 4

Q.2 आयरन, आयोडीन और िजंक को िनɻिलİखत मŐ से Ɛा माना जा सकता है?

Ans 1. सूƘ पोषक तȇ

2. वृहद पोषक तȇ

3. ːेरॉयड हामŖन Ůेरक

4. गैर-अिनवायŊ पोषक तȇ

Question ID : 26433071441

Status : Answered

Chosen Option : 1

Q.3 जुलाई 2022 मŐ, सरकार ने सहायक Ůजनन ŮौȨोिगकी (िविनयमन) अिधिनयम, 2021 और सरोगेसी
(िविनयमन) अिधिनयम, 2021 के अनुसार िनɻिलİखत मŐ से िकसके आयात पर रोक लगा दी?

Ans 1. मानव űूण

2. िडंब

3. गुदाŊ

4. ːेम कोिशका

Question ID : 264330105237

Status : Answered

Chosen Option : 1

Section : General Awareness



Q.4 िनɻिलİखत कथक नतŊक/नतŊिकयो ं मŐ से िकसे पȧ ŵी पुरˋार, 2022 से सʃािनत िकया गया?
Ans 1. यािमनी कृˁमूितŊ और ˝ृित कृˁमूितŊ

2. मंजरी चतुवőदी और राजŐū चतुवőदी

3. कमिलनी अ̾थाना और निलनी अ̾थाना

4. सुजाता मोहपाũा और रितकांत मोहपाũा

Question ID : 26433082126

Status : Not Answered

Chosen Option : --

Q.5 फरवरी 2022 मŐ, निदयो ं के िलए पहला नाइट नेिवगेशन मोबाइल एİɘकेशन ________ मŐ लॉȳ िकया
गया था।

Ans 1. उȅर Ůदेश

2. असम

3. झारखंड

4. पिʮम बंगाल

Question ID : 264330105266

Status : Answered

Chosen Option : 4

Q.6 िलưाइट के Ůमुख भंडार नैवेली मŐ हœ जो ______ मŐ İ̾थत है।
Ans 1. केरल

2. तिमलनाडु

3. कनाŊटक

4. आंŬŮदेश

Question ID : 264330105507

Status : Answered

Chosen Option : 3

Q.7 िनɻिलİखत मŐ से कौन बांसुरी वादन के िलए िवƥात है?

Ans 1. पंिडत हįरŮसाद चौरिसया

2. पंिडत रिवशंकर

3. पंिडत कुमार गंधवŊ

4. पंिडत िशवकुमार शमाŊ

Question ID : 26433071634

Status : Answered

Chosen Option : 1

Q.8 73वां संशोधन िनɻिलİखत मŐ से िकससे संबंिधत है?

Ans 1. दल-बदल

2. जीएसटी

3. शहरी ̾थानीय सरकारी िनकाय

4. पंचायती राज ʩव̾था

Question ID : 26433064833

Status : Answered

Chosen Option : 4



Q.9 फमŘ Ȫारा उȋािदत वˑुओंऔर सेवाओं के कुल मूʞ को मापने वाली जीडीपी (GDP) आकलन िविध
को _______ कहा जाता है।

Ans 1. उȋाद िविध

2. आय िविध

3. ʩय िविध

4. उपभोग िविध

Question ID : 264330105361

Status : Answered

Chosen Option : 1

Q.10 िनɻिलİखत मŐ से कौन सा शहर 1704 मŐ बंगाल की राजधानी बना?
Ans 1. हावड़ा

2. खड़गपुर

3. कोलकाता

4. मुिशŊदाबाद

Question ID : 264330105446

Status : Answered

Chosen Option : 3

Q.11 भूिम संसाधन के संरƗण के िलए िनɻ मŐ से िकस िविध का उपयोग िकया जाता है?

Ans 1. रासायिनक कीटनाशकों का अंधाधंुध उपयोग

2. अवैध िशकार

3. भूिम उȠार

4. वनोɉूलन

Question ID : 264330105608

Status : Answered

Chosen Option : 3

Q.12 1948 के औȨोिगक नीित संकʙ मŐ िनɻिलİखत मŐ से िकस पर कŐ ū सरकार का एकािधकार नही ं था?
Ans 1. लोहा और इ˙ात

2. हिथयार और गोला बाŝद

3. रेलवे

4. परमाणु ऊजाŊ

Question ID : 26433066577

Status : Answered

Chosen Option : 2

Q.13 _________ नदी को 'बंगाल का शोक' कहा जाता है।
Ans 1. नमŊदा

2. तापी

3. कोसी

4. दामोदर

Question ID : 26433066522

Status : Answered

Chosen Option : 4



Q.14 बाबर ने _____ वषŊ तक िदʟी पर शासन िकया।
Ans 1. 1539

2. 1545

3. 1530

4. 1526

Question ID : 264330105431

Status : Answered

Chosen Option : 3

Q.15 अिधकांशƑोरोफाइसी मŐ एक या एक से अिधक भंडारण िनकाय होते हœ, िजɎŐ ______ कहा जाता है,
जोƑोरोɘाː मŐ İ̾थत होते हœ।

Ans 1. कैरोटीनॉयड

2. Ƒोरोिफल

3. पाइरेनोइड्स

4. ːोमेटा

Question ID : 26433064749

Status : Not Answered

Chosen Option : --

Q.16 समुū तक पŠंचते पŠंचते नदी अनेक िवताįरकाओं मŐ िवभािजत हो जाती है, Ůȑेक िवताįरका अपने
मुहाने का िनमाŊण करती है। सभी मुहानो ं के अवसादो ं के संŤह ______ का िनमाŊण करते हœ।

Ans 1. िवसपŊ

2. डेʐा

3. तटबंध

4. बाढ़ का मैदान

Question ID : 264330105635

Status : Answered

Chosen Option : 2

Q.17 िकस िवधेयक मŐ Ůावधान िकया गया िक भारतीय Ɋायाधीश भी िŰिटश या यूरोपीय ʩİƅयों पर
मुकदमे चला सकते हœ?

Ans 1. हेİːंƺ िबल

2. डलहौज़ी िबल

3. जॉजŊ िबल

4. इʛटŊ िबल

Question ID : 264330105562

Status : Not Answered

Chosen Option : --

Q.18 मȯपाषाण युग की अविध लगभग ______ वषŊ पूवŊ से ______ वषŊ पूवŊ तक मानी जाती है।
Ans 1. 10000, 7000

2. 14000, 10000

3. 17000, 12000

4. 12000, 10000

Question ID : 264330105162

Status : Answered

Chosen Option : 4



Q.19 िŢकेट मŐ, यिद अंपायर अपनी तजŊनी उंगली को िसर के ऊपर तक उठाकर संकेत करे तो इसका Ɛा
अथŊ होता है?

Ans 1. वाइड बॉल

2. नो बॉल

3. डेड बॉल

4. बʟेबाज आउट हो गया है

Question ID : 26433071561

Status : Answered

Chosen Option : 4

Q.20 िनɻिलİखत मŐ से कौन-सा देश 2023 के एफ.आई.बी.ए. (FIBA) बाˋेटबॉल िवʷ कप की मेजबानी
करने वाले तीन देशो ं मŐ से एक नही ं है?

Ans 1. िफलीपीसं

2. अजŒटीना

3. जापान

4. इंडोनेिशया

Question ID : 26433059409

Status : Not Answered

Chosen Option : --

Q.21 संिवधान (चौवालीसवां संशोधन) अिधिनयम, 1978 Ȫारा िकस मौिलक अिधकार को हटा िदया गया था?
Ans 1. संपिȅ का अिधकार

2. िशƗा का अिधकार

3. संवैधािनक उपचार का अिधकार

4. आंदोलन की ˢतंũता का अिधकार

Question ID : 26433080969

Status : Answered

Chosen Option : 1

Q.22 िनɻिलİखत मŐ से िकस भारतीय राǛ मŐ "वंगाला महोȖव" (सौ ढोल महो̝सव) मनाया जाता है?

Ans 1. िहमाचल Ůदेश

2. मेघालय

3. उȅराखंड

4. पंजाब

Question ID : 26433064695

Status : Answered

Chosen Option : 2

Q.23 िसरका का रासायिनक सूũƐा है?

Ans 1. HCOOH

2. (COOH)2

3. CH3COOH

4. C6H5COOH

Question ID : 26433089655

Status : Answered

Chosen Option : 3



Q.24 भारत मŐ पहली बुलेट टŌ ेन पįरयोजना का लƙ _______ के बीच हाई-˙ीड रेल (एच. एस. आर) टŌ ैक पर
320 िकमी Ůित घंटे की रɞार से बुलेट टŌ ेन चलाना है।

Ans 1. िदʟी और हैदराबाद

2. जयपुर और मंुबई

3. अहमदाबाद और मंुबई

4. कोलकाता और चेɄई

Question ID : 264330105280

Status : Answered

Chosen Option : 3

Q.25 छोिलया नृȑ ______ मŐ िकया जाता है।
Ans 1. मेघालय

2. लȞाख

3. तिमलनाडु

4. उȅराखंड

Question ID : 26433064294

Status : Answered

Chosen Option : 1

Q.1

Ans 1. 1,76,000

2. 2,00,000

3. 1,54,000

4. 2,64,000

Question ID : 26433086275

Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude



Q.2

Ans 1. 142

2. 140

3. 141

4. 143

Question ID : 26433082688

Status : Answered

Chosen Option : 2

Q.3 एक ऐसा शंƓाकार पाũ, िजसकी आंतįरक िũǛा 20 cm है और ऊँचाई 27 cm है, पानी से भरा है।
यिद पानी को 15 cm िũǛा वाले एक बेलनाकार पाũ मŐ उड़ेला जाए, तो उस पाũ मŐ पानी िकस ऊँचाई
तक पŠंचेगा?

Ans 1. 10 cm 

2.  14 cm

3.  12 cm

4.  16 cm

Question ID : 26433063974

Status : Answered

Chosen Option : 4

Q.4 यिद दो समिȪबाŠ िũभुजो ं के Ɨेũफल x2 : y2 के अनुपात मŐ हœ, तो उनकी संगत ऊँचाइयो ं का अनुपात
Ɛा है?

Ans 1. 

2. 

3. 

4. 

Question ID : 26433075536

Status : Not Answered

Chosen Option : --

Q.5 x = 222, y = 223 और z = 224 है, तो x3 + y3 + z3 − 3xyz का मान ǒात कीिजए।
Ans 1. 2004 

2. 2006 

3. 2005 

4. 2007 

Question ID : 26433076319

Status : Answered

Chosen Option : 4



Q.6

Ans 1. 6 cm

2. 8 cm

3. 10 cm

4. 9 cm

Question ID : 26433079980

Status : Answered

Chosen Option : 3

Q.7 यिद sin A = 4/5 है, तो sin2 A का मान Ɛा है?

Ans 1. 16/25

2. 26/25

3. 36/25

4. 48/25

Question ID : 264330105894

Status : Answered

Chosen Option : 1

Q.8 एक पुिलसकमŎ ने अपने सामने 40 मीटर की दूरी पर एक चोर देखा। दोनो ं ने एक दूसरे को देखते ही
एक ही मागŊ पर एक ही िदशा मŐ दौड़ना शुŝ कर िदया। चोर 10 m/sec की चाल से दौड़ रहा था और
पुिलसकमŎ 12 m/sec की चाल से उसका पीछा कर रहा था। चोर पकड़ने के िलए पुिलसकमŎ को
िकतनी दूरी (मीटर मŐ) तय करनी होगी?

Ans 1. 180

2. 200

3. 225

4. 240

Question ID : 26433079957

Status : Answered

Chosen Option : 4

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 26433061769

Status : Answered

Chosen Option : 3



Q.10

Ans 1. 32

2. 40

3. 36

4. 24

Question ID : 26433081455

Status : Answered

Chosen Option : 3

Q.11

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080233

Status : Answered

Chosen Option : 3



Q.12

Ans 1. 400

2. 600

3. 500

4. 300

Question ID : 26433079791

Status : Answered

Chosen Option : 3

Q.13 कोई धनरािश साधारण ɯाज पर 7 वषŊ मŐ दोगुनी हो जाती है। िकतने समय मŐ यह रािश 5 गुनी हो
जाएगी?

Ans 1. 21 वषŊ

2. 25 वषŊ

3. 23 वषŊ

4. 28 वषŊ

Question ID : 26433079874

Status : Answered

Chosen Option : 4

Q.14 X, Y के वगŊ के अनुŢमानुपाती है। जब X, 12 है, तो Y, 2 है। X का मान ǒात कीिजए, जब Y, 3 है।
Ans 1. 27

2. 30

3. 9

4. 18

Question ID : 26433065285

Status : Answered

Chosen Option : 1

Q.15 एक बेईमान डीलर वˑुओं को Ţय-मूʞ पर 7% की हािन पर बेचता है, लेिकन 18% कम वजन का
उपयोग करता है। उसके लाभ का ŮितशतƐा है? (2 दशमलव ̾थानो ं तक सही)

Ans 1. 13.41%

2. 28.75%

3. 12.82%

4. 25.65%

Question ID : 26433063700

Status : Answered

Chosen Option : 1



Q.16 60, 148 और 382 का महȅम समापवतŊक (HCF) ǒात कीिजए।
Ans 1. 24 

2. 6 

3. 4

4. 2

Question ID : 26433076169

Status : Answered

Chosen Option : 4

Q.17 यिद x + y + z = 0 तथा x2 + y2 + z2 = 40 है, तो xy + yz + zx का मान Ɛा है?

Ans 1. –20

2. –5

3. 5

4. –10

Question ID : 264330105914

Status : Answered

Chosen Option : 1

Q.18 राघव एक शॉिपंग मॉल मŐ कपड़े खरीदने गया था। उसके पास दो कूपन थे, लेिकन एक िदन मŐ केवल
एक ही इʱेमाल िकया जा सकता है। पहले कूपन का उपयोग करके कुल रािश पर 30% की कुल छूट
Ůाɑ की जा सकती है। दूसरे कूपन का उपयोग करते Šए, यिद वह कम से कम 3 शटŊ खरीदता है, तो
उसे सबसे महँगी शटŊ की कीमत पर 80% की छूट िमलेगी। यिद तीन शटŊ की कीमत Rs.1,250,
Rs.1,540 और Rs.1,375 हœ, तो राघव Ɋूनतम कीमत पर 3 शटő िकस कीमत पर खरीद सकता है?

Ans 1. Rs.2,915.50

2. Rs.2,933

3. Rs.2,760

4. Rs.2,775

Question ID : 26433075317

Status : Answered

Chosen Option : 2

Q.19 आįरफ, अŜणऔर अŰाहम एक कायŊ को Ţमशः 12, 20 और 24 िदनो ं मŐ पूरा कर सकते हœ। वे सब
एक साथ कायŊ शुŝ करते हœ। कायŊ पूरा होने से 1 िदन पहले आįरफ, 3 िदन पहले अŜणऔर 4 िदन
पहले अŰाहम कायŊ छोड़ देता है। कायŊ िकतने िदनो ं मŐ समाɑ होता है?

Ans 1. 11

2. 10

3. 9

4. 8

Question ID : 26433075121

Status : Answered

Chosen Option : 4

Q.20 एकआदमी और उसके पįरवार का िनवाŊह ʩय, उसके वेतन का 60% है। वह अपने वेतन मŐ 30% और
60% की दो वृİȠ Ůाɑ करता है। यिद उसकी बचत उसकी Ůारंिभक बचत के 250% से बढ़ जाती है, तो
नया िनवाŊह ʩय, बढ़े Šए वेतन का िकतना Ůितशत (िनकटतम पूणाōक तक पूणाōिकत) है?

Ans 1. 36.6 Ůितशत

2. 43.6 Ůितशत

3. 32.7 Ůितशत

4. 29.5 Ůितशत

Question ID : 26433063202

Status : Not Answered

Chosen Option : --



Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 26433066339

Status : Not Answered

Chosen Option : --

Q.22

Ans 1. 0

2. 2

3. 3

4. 1

Question ID : 26433062672

Status : Not Answered

Chosen Option : --

Q.23 एक 12 से.मी. िũǛा वाले ठोस धाİȕक गोले को िपघलाकर एक शंकु का आकार िदया जाता है िजसके
आधार का ʩास 12 से.मी. है। शंकु की ऊँचाई Ɛा है?

Ans 1. 258 से.मी.

2. 224 से.मी.

3. 166 से.मी.

4. 192 से.मी.

Question ID : 264330105846

Status : Answered

Chosen Option : 4

Q.24 यिद एक 7-अंकीय सं̏या 54p3987, 11 से िवभा̕य है, तो p िकसके बराबर होगा?
Ans 1. 1

2. 4

3. 5

4. 9

Question ID : 26433074977

Status : Answered

Chosen Option : 3



Q.25 एक पįरवार के छह सद˟ों की औसतआयु 40 वषŊ है। यिद इसमŐ एक अितिथ की आयु सİʃिलत कर
ली जाए, तो औसतआयु मŐ 12.5% की वृİȠ होती है। अितिथ की आयु (वषŘ मŐ) िकतनी है?

Ans 1. 69

2. 65

3. 59

4. 75

Question ID : 26433066296

Status : Answered

Chosen Option : 4

Q.1 Select the option that can be used as a one-word substitute for the given group of
words.
Having a feeling of guilt

Ans 1. Refulgence 

2. Remorse

3. Repugnance

4. Restitution

Question ID : 26433073359

Status : Answered

Chosen Option : 1

Q.2 Rearrange the parts of the sentence in correct order.
The absence of
P. data on the migrant workers was
Q. formulating effective policy decisions and
R. preventing the governments from
S. strategies for the welfare of migrant workers

Ans 1. PSRQ

2. PRQS

3. QPRS

4. RPQS

Question ID : 264330104673

Status : Not Answered

Chosen Option : --

Q.3 Select the option that can be used as a one-word substitute for the given group of
words.

A person who criticises traditional beliefs and customs

Ans 1. Heretic

2. Iconoclast

3. Absconder

4. Apostle

Question ID : 26433072546

Status : Answered

Chosen Option : 4

Section : English Comprehension



Q.4 Select the most appropriate option to fill in the blank.

I felt ________ elated at the news.

Ans 1. strangely 

2. customarily 

3. typically

4. commonly

Question ID : 26433059588

Status : Answered

Chosen Option : 1

Q.5 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The students usually asks / for a bonus time of / thirty minutes for / completing their
projects.

Ans 1. thirty minutes for

2. The students usually asks

3. completing their projects

4. for a bonus time of

Question ID : 26433089278

Status : Answered

Chosen Option : 3

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The students were warned on coming late to school.

Ans 1. warned at

2. warned with

3. warned in

4. warned against

Question ID : 26433088170

Status : Answered

Chosen Option : 1

Q.7 Select the INCORRECTLY spelt word.

Ans 1. Musk

2. Extarnal

3. Angel

4. Decide

Question ID : 26433070624

Status : Answered

Chosen Option : 2



Q.8 Select the most appropriate ANTONYM of the underlined word.
The singer complained to the police that she was purportedly attacked back stage
immediately after the concert.

Ans 1. Severely

2. Impossibly

3. Dramatically

4. Maliciously

Question ID : 26433061563

Status : Not Answered

Chosen Option : --

Q.9 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

Let us know what you think in black and white.

Ans 1. in black and white paint

2. in writing 

3. verbally 

4. in darkness and light 

Question ID : 26433072228

Status : Answered

Chosen Option : 2

Q.10 Select the correct passive form of the given sentence.
He drank a lot of coffee before the marathon.

Ans 1. A lot of coffee was drunk by him before the marathon.

2. A lot of coffee was drunken by him before the marathon.

3. A lot of coffee had been drunk by him before the marathon.

4. A lot of coffee is drunk by him before the marathon.

Question ID : 264330104557

Status : Answered

Chosen Option : 1

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

One of the major challenges / he faced during his / undergraduate days were / the
shortage of money.

Ans 1. One of the major challenges

2. the shortage of money

3. undergraduate days were

4. he faced during his

Question ID : 26433089280

Status : Answered

Chosen Option : 3



Q.12 Select the option that expresses the given sentence in passive voice.

They flew a kite in the evening.

Ans 1. A kite was being flown by them in the evening. 

2. In the evening, a kite have been flown by them.

3. A kite was flown by them in the evening.

4. A kite has been flown by them since evening.

Question ID : 26433088547

Status : Answered

Chosen Option : 3

Q.13 Select the most appropriate meaning of the given idiom.
Red tape

Ans 1. Catch someone at the moment they are doing something wrong

2. Official rules and bureaucracy that make it difficult to do something 

3. Something unimportant that takes attention away from the main subject

4. Have a negative amount in your bank balance 

Question ID : 26433060467

Status : Not Answered

Chosen Option : --

Q.14 Select the most appropriate ANTONYM of the underlined word.
Social economics is a meta-discipline in which economics is entrenched in social,
political and cultural behaviours.

Ans 1. Transient

2. Startling

3. Averted

4. Entrusted

Question ID : 26433061569

Status : Not Answered

Chosen Option : --

Q.15 Choose the incorrectly spelt word.

Ans 1. Subsistance

2. Aggravate

3. Knight

4. Benchmark

Question ID : 264330104745

Status : Answered

Chosen Option : 2

Q.16 Select the correct direct form of the given sentence.
Meena said that her parents were getting divorced.

Ans 1. Meena said, "My parents are getting divorced."

2. Meena said, "My parents were getting divorced."

3. Meena said, "My parents will be getting divorced."

4. Meena said, "My parents get divorced."

Question ID : 264330104628

Status : Answered

Chosen Option : 1



Q.17 Select the most appropriate synonym of the underlined word in the given sentence.

The young fellow was innocent and without guile.

Ans 1. Deceit

2. Morality  

3. Pride  

4. Greed  

Question ID : 26433071964

Status : Answered

Chosen Option : 2

Q.18 Select the most appropriate option to fill in the blank.
Either he is mad, or he feigns ________.

Ans 1. happiness

2. sadness

3. madness

4. calmness

Question ID : 26433086342

Status : Answered

Chosen Option : 3

Q.19 Select the option that can be used as a one-word substitute for the underlined group
of words in the following sentence.

Sita seems not to be affected by the pleasures and pains of life.

Ans 1. strict

2. stoic

3. active

4. passive

Question ID : 26433072755

Status : Answered

Chosen Option : 1

Q.20 Select the most appropriate synonym of the bracketed word to fill in the blank.

Your words seemed more like a demand rather than a _________ (request).

Ans 1. contract

2. order

3. compromise  

4. plea

Question ID : 26433060682

Status : Answered

Chosen Option : 1



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) _________ repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) _______ manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) ________ of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) ________. As a
result, consistency is the (5) _________ that allows anyone to consistently put in the effort.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. entails

2. envelops

3. figure

4. initiates

Question ID : 26433084793

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) _________ repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) _______ manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) ________ of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) ________. As a
result, consistency is the (5) _________ that allows anyone to consistently put in the effort.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. focus

2. discipline

3. intermittent

4. casual

Question ID : 26433084794

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) _________ repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) _______ manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) ________ of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) ________. As a
result, consistency is the (5) _________ that allows anyone to consistently put in the effort.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. comprehension

2. decision

3. ignorance

4. estrangement

Question ID : 26433084795

Status : Answered

Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) _________ repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) _______ manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) ________ of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) ________. As a
result, consistency is the (5) _________ that allows anyone to consistently put in the effort.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. destructible

2. fluctuating

3. feasible

4. credible

Question ID : 26433084796

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) _________ repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) _______ manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) ________ of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) ________. As a
result, consistency is the (5) _________ that allows anyone to consistently put in the effort.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. instrument

2. apparatus

3. resistance

4. utensil

Question ID : 26433084797

Status : Answered

Chosen Option : 4


